—BE A | #F B

68 LHEAGIHK B #F Bk H =X

=x=
i

68 FTHEAGIKE A K Kk # =
J—)IEF-LyF-EIDE
g $f K A ouT IN [TOTAL|HDCP | NET
& B A 17 34 | 38 | 72 4 68
B HE 9F 39 | 39 | 78 9 69
3 i I = 41 40 | 81 12 69
4 i i & 38 | 39 77 6 71
5 fi Bk &R 40 | 41 81 10 71
B-G A 15 34 38 72
68 FTHEAGKE A K K # =
II—-KITL FDED
g $f K A ouT IN [TOTAL|HDCP | NET
& B W —8 35 | 36 | 71 7 64
#EB milE= 37 | 38 | 75 6 69
3 fi EH IEa 38 | 39 77 7 70
4 fi 55T &7 41 40 | 8t 10 71
5 fi @Ml shia 39 | 43 | 82 9 73
B-G HE — 35 | 36 | 71

EEHR)—{E5ER

J—)IF-LyF-EIDE
SH6F6FA8H
g $2 K 4 ouT | IN |[TOTAL|HDCP| NET
& B B =F8 40 | 43 | 83 | 20 63
B d)Il HEER 4 50 | 9f 26 65
3 i AIE SAF 41 40 | 81 14 67
4 i RH & 41 43 | 84 | 15 69
5 fi aH BHE 42 | 46 | 88 | 19 69
B-G AIE SAF 41 40 | 81
68 +THEAHIK B K Bk # =

II—-KITL FDES
g $f K 4 ouT | IN |[TOTAL|HDCP| NET
& B A+ &b 47 | 44 | 91 30 61
B &R B— 47 | 38 | 85 | 19 66
3 i AKR Eih 45 | 41 86 | 18 68
4 i B 47 | 44 | o 23 68
5 fi EH Fa 43 | 45 | 88 | 18 70
B-G &M &— 47 | 38 | 85




